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Mahatma Gandhi College, Iritty
Certificate Course in

Quantitative Aptitude for Competitive Examinations
ASSIGNMENT – 1

1. A shopkeeper purchases a table and sells it for Rs. 4200. If he incurs a loss of 20%, find the cost price of

table.

a) Rs. 5250 b) Rs. 5150 c) Rs. 5052 d) Rs. 5200

2. After selling 140 apples a fruit seller earns a profit equal to selling price of 20 apples. His profit

percentage is:

a) 15.7% b) 16.7% c) 18.7% d) 20%

3. The owner of the cell phone shop charges 23% more than the cost price. If a customer paid 7011 for a

cell phone, find the cost price of the cell phone.

a) 5860 b) 5220 c) 5700 d) 6750

4. The present age of Aradhana and Bhadra is in the ratio 3 : 4. Five years back, the ratio of their ages was

2 : 3. What is the present age of Aradhana?

a) 12 b) 15 c) 20 d) 22

5. If the total ages of Iqbal and Ram is 12 years more than the total ages of Ram and Charu. Charu is how

many years younger than Iqbal?

a) 11 b) 12 c) Data inadequate d)None of these



6. A father is twice as old as his daughter. If twenty years ago, the age of the father was 10 times the age

of his daughter. What is the present age of the father?

a) 40 b) 32 c) 33 d) 45

7. X and Y can do a piece of work in 20 days and 12 days respectively. X started the work alone and then

after 4 days Y joined him till the completion of the work. How long did the work last?

a) 6 days b) 10 days c) 15 days d) 20 days

8. A is 30% more efficient than B. How much time will they, working together, take to complete a job

which A alone could have done in 23 days?

a) 11 days b) 13 days c) 15 days d)None of these

9. Ravi and Kumar are working on an assignment. Ravi takes 6 hours to type 32 pages on a computer,

while Kumar takes 5 hours to type 40 pages. How much time will they take, working together on two

different computers to type an assignment of 110 pages?

a) 7 hours 30 min b) 8 hours c) 8 hours 15 min d) 8 hours 25 min

10. If the cost of x metres of wire is d rupees, then what is the cost of y metres of wire at the same rate?

a) Rs. ( (xy)/d ) b) Rs. (xd) c) Rs. (yd) d) Rs.( (yd)/x )

11. Running at the same constant rate, 6 identical machines can produce a total of 270 bottles per minute.

At this rate, how many bottles could 10 such machines produce in 4 minutes?

a) 648 b) 1800 c) 2700 d) 10800

12. 39 persons can repair a road in 12 days, working 5 hours a day. In how many days will 30 persons,

working 6 hours a day, complete the work?

a) 10 b) 13 c) 14 d) 15
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1) If selling price is doubled, the profit triples. Find the profit percent?
A) 100% B) 200% C) 300% D) 400%

2) By selling 45 lemons for Rs 40, a man loses 20%. How many should he sell for Rs 24
to gain 20% in the transaction?
A) 16 B) 18 C) 20 D) 22

3) If the cost price is 25% of selling price. Then what is the profit percent.
A) 150% B) 200% C) 300% D) 350%

4) A father said his son, “ I was as old as you are at present at the time of your birth”. If
the father’s age is 38 now, what was the son’s age 5 years back?
A) 14 B) 19 C) 13 D) 38

5) In 10 years, A will be twice as old as B was 10 years ago. If A is now 9 years older
than B, the present age of B is:
A) 19 B) 29 C) 39 D) 49

6) What is Sruthi’s present age, if after 20 years her age will be 10 times her age 10
years back?
A) 6.2 B) 7.7 C) 13.3 D) 10

7) Running at the same constant rate, 6 identical machines can produce a total of 270
bottles per minute. At this rate, how many bottles could 10 such machines produce in
4 minutes?
A) 648 B) 1800 C) 2700 D) 10800

8) In a camp, there is a meal for 120 men or 200 children. If 150 children have taken the
meal, how many men will be catered to with remaining meal?
A) 20 B) 30 C) 40 D) 50

9) A flagstaff 17.5 m high casts a shadow of length 40.25 m. The height of the building,
which casts a shadow of length 28.75 m under similar conditions will be:
A) 10m B) 12.5m C) 17.5m D) 22.25m

10) A can do a work in 15 days and B in 20 days. If they work on it together for 4 days,
then the fraction of the work left is:
A) 1/4 B) 1/10 C) 7/15 D) 8/15



11) Dev completed the school project in 20 days. How many days will Arun take to
complete the same work if he is 25% more efficient than Dev?
A) 10 days B) 12 days C) 16 days D) 15 days

12) Time taken by A to finish a piece of work is twice the time taken by B and thrice the
time taken by C. If all three of them work together, it takes them 2 days to complete
the entire work. How much work was done by B alone ?
A) 2days B) 6days C) 3days D) 5days

13) A man walking at the rate of 5 km/hr crosses a bridge in 15 minutes. What is the length
of the bridge (in metres)?
A) 1340 B) 1320 C) 1250 D) 1280

14) The distance between two cities A and B is 330 km. A train starts from A at 8 a.m. and
travels towards B at 60 km/hr. Another train starts from B at 9 a.m. and travels towards
A at 75 km/hr. At what time will they meet?
A) 10am B) 11am C) 12noon D) 10.30am

15) An athlete runs 200 meters race in 24 seconds. What is his speed?
A) 20 km/hr B) 25 km/hr C) 27.5 km/hr D) 30 km/hr

16) Two trains are running in opposite directions in the same speed. The length of each
train is 120 meter. If they cross each other in 12 seconds, the speed of each train (in
km/hr) is
A) 42 B) 36 C) 28 D) 20

17) A train 125 m long passes a man, running at 5 km/hr in the same direction in which the
train is going, in 10 seconds. The speed of the train is ?

A) 45kmph B) 25kmph C) 30kmph D) 50 kmph

18) A train speeds past a pole in 15 seconds and a platform 100 m long in 25 seconds. Its
length is:

A) 50m B) 150m C) 200m D) Data inadequate

19) A man rows 24 km upstream in 6 hours and a distance of 35 km downstream in 7
hours. Then the speed of the man in still water is:

A) 4 kmph B) 4.5 kmph C) 5 kmph D) 5.5 kmph

20) A boy can row upstream 10 kmph and downstream 20 kmph. Find the rate of the
current?

A) 4 kmph B) 5 kmph C) 10 kmph D) 15 kmph

21) Downstream speed of a boat is 25 km/hr. Speed of the current is 2 km/hr. What is the
speed of boat in upstream?



A) 21 kmph B) 23 kmph C) 25 kmph D) 27 kmph

22) January 1, 2007 was Monday. What day of the week lies on Jan. 1, 2008 ?
A) Monday B) Tuesday C) Wednesday D) Sunday

23) January 1, 2008 is Tuesday. What day of the week lies on Jan. 1, 2009 ?
A) Monday B) Wednesday C) Thursday D) Sunday

24) On 8th Dec, 2007 Saturday falls. What day of the week was it on 8th Dec. 2006 ?
A) Sunday B) Thursday C) Tuesday D) Friday

25) How many times do the hands of a clock coincide in a day?

A) 20 B) 21 C) 22 D) 24
26) At what time, in minutes, between 3o’ clock and 4o’ clock, both the hands will

coincide each other.

A) B) C) D)
27) At what time between 9 and 10 o’ clock will the hands of a watch to be together?

A) 45 min past 9 B) 50 min past 9 C) min past 9 D) min past
7

28) The shadow of the tower becomes 60 metres longer when the altitude of the sun
changes from 45° to 30°. Then the height of the tower is

A) B) C) D)

29) An aeroplane when flying at a height of 3125 m from the ground passes vertically
below another plane at an instant when the angle of elevation of the two planes from
the same point on the ground are 30° and 60° respectively. The distance between the
two planes at that instant is
A) 6520 m B) 6000 m C) 5000 m D) 6250 m

30) The angle of elevation of the sun, when the length of the shadow of a tree 3 times the
height of the tree, is:
A) 100 B) 300 C) 500 D) 700

31) A man invested of his capital at 7%; at 8% and the remainder at 10%. If his
annual income is Rs. 561, the capital is:

A) Rs.5400 B) Rs.6000 C) Rs.6600 D) Rs.7200



32) A person invested in all Rs. 2600 at 4%, 6% and 8% per annum simple interest. At the
end of the year, he got the same interest in all the three cases. The money invested at
4% is:

A) Rs.200 B) Rs.600 C) Rs.800 D) Rs.1200

33) A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4
years. The sum is:

A) 650 B) 690 C) 698 D) 700

34) If the simple interest on a sum of money for 2 years at 5% per annum is Rs. 50, what is
the compound interest on the same sum at the same rate and for the same time?

A) Rs. 51.25 B) Rs. 52 C) Rs. 54.25 D) Rs. 50

35) What will be the difference between simple and compound interest at 10% per annum
on a sum of Rs. 1000 after 4 years?

A) Rs. 31 B) Rs. 32.10 C) Rs. 40.40 D) Rs. 64.10


